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6
H

H = { | 〉 } .

|a〉 + |b〉 = |c〉

|0〉

z |a〉 = |b〉

1 ∈ C

H |a〉 |b〉

(|a〉, |b〉) .

| (|a〉, |b〉) |2 ≤ (|a〉, |a〉) · (|b〉, |b〉) .

(|a〉 + z|b〉, |a〉 + z|b〉) ≥ 0

(|a〉, |a〉) + z(|a〉, |b〉) + z∗(|b〉, |a〉) + zz∗(|b〉, |b〉) ≥ 0 .
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z = −(|b〉, |a〉)
(|b〉, |b〉) ,

(|a〉, |a〉) − (|b〉, |a〉)
(|b〉, |b〉) (|a〉, |b〉) − (|a〉, |b〉)

(|b〉, |b〉) (|b〉, |a〉) +

+
(|a〉, |b〉).(|b〉, |a〉)

(|b〉, |b〉)2
(|b〉, |b〉) ≥ 0

(|a〉, |a〉) ≥ |(|a〉, |b〉)|2
(|b〉, |b〉)

H

H
|| |a〉 || =

√
(|a〉, |a〉)

|a〉 H |a〉
|a〉 |b〉 H

d(|a〉, |b〉) = || |a〉 − |b〉 || =
√

(|a〉 − |b〉, |a〉 − |b〉) .

H
H

H H
Lembremos que o
espaço é

se existir uma
base enumerável de
elementos, do tipo
{|0〉, |1〉, |2〉, . . .}.

H
H

〈ψ|

〈ψ| ( z |a〉 + w |b〉 ) = z 〈ψ|a〉 + w 〈ψ|b〉 ,

z, w ∈ C |a〉, |b〉 ∈ H
〈ψ|
{|an〉}

H
lim

n→∞
d(|an〉, |0〉) = lim

n→∞
|| |an〉 − |0〉 || = lim

n→∞
|| |an〉 || = 0 ,
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6{〈ψ|an〉}

lim
n→∞

〈ψ|an〉 = 0 .

H′

H
H H′

( 〈α| + 〈β| ) |ψ〉 = 〈α|ψ〉 + 〈β|ψ〉 ,

|ψ〉 ∈ H 〈α|, 〈β| ∈ H′

(z〈α|) |ψ〉 = z 〈α|ψ〉

H H′ H

H H′

|a〉
H 〈a| H′

〈a|
|a〉

〈a|b〉 = (|a〉, b〉)
|b〉 H

H H′ H H′

H ≡ H′

H H′

|a〉 ←→ 〈a|
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z|a〉+w|b〉

(z1|a〉 + z2|b〉, |c〉) = (z1)
∗ (|a〉, |c〉) + (z2)

∗ (|b〉, |c〉) .

(|α〉, |β〉) = 〈α|β〉 ;

〈 z1a + z2b |c〉 = (z1)
∗ 〈a|c〉 + (z2)

∗ 〈b|c〉
=

(
(z1)

∗ 〈a| + (z2)
∗ 〈b|

)
|c〉

|z1a+ z2b〉 = z1 |a〉+ z2 |b〉 〈z1a+ z2b| =
(z1)

∗ 〈a| + (z2)
∗ 〈b|

z1 |a〉 + z2 |b〉 ←→ (z1)
∗ 〈a| + (z2)

∗ 〈b|

H

A : D(A) ⊂ H −→ CD(A) ⊂ H
|b〉 −→ |c〉 = A |b〉

A [z |b〉 + w |c〉] = z A |b〉 + w A|c〉 ,

z, w ∈ C |b〉, |c〉 ∈ H

H {|u1〉, |u2〉, . . .}

〈ui|uj〉 = δij .

|b〉

|b〉 =

∞∑
i=1

βi|ui〉
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6βi ∈ C

|c〉 = A |b〉 = A
∞∑
i=1

βi |ui〉 .

A |ui〉
|b〉 H

|b〉 βi

βi = 〈ui|b〉
|b〉 {|ui〉} |uj〉

〈uj|b〉 =

∞∑
i=1

βi〈uj|ui〉 =

∞∑
i=1

βiδij = βj .

|b〉 =
∑

i

|ui〉 〈ui|b〉︸ ︷︷ ︸
βi

=

(∑
i

|ui〉〈ui|
)
|b〉 ,

|b〉 ∈ H ∑
i

|ui〉〈ui| = 1

|c〉 =
∑

i

βiA|ui〉 .

|c〉

|c〉 =
∑

j

γj |uj〉 =
∑

j

|uj〉〈uj|c〉 =

=
∑
i,j

|uj〉〈uj|A|ui〉 βi

γj |c〉 {|ui〉}
βi |b〉

γj =
∑

i

〈uj|A|ui〉 βi
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A {|ui〉}

Aij = 〈uj|A|ui〉
A {|ui〉}

|c〉
〈uj| (A|ui〉βi)

(〈uj|A) |ui〉 = 〈uj| (A|ui〉)

(A + B)|c〉 = A|c〉 + B|c〉 ,

AB|c〉 = A (B|c〉) .

A B

[A, B] = AB − BA

0
AB = BA = 1 1 1|a〉 = |a〉

|a〉 ∈ H B A

B = A−1 .

(AB)−1 = B−1A−1 .

A A

〈c|A†|b〉 = 〈b|A|c〉∗
|b〉, |c〉 ∈ H
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6
A

A|c〉 |c′〉 = A|c〉
〈c′|

〈c′|b〉 = 〈b|c′〉∗ = 〈b|A|c〉∗ = 〈c|A†|b〉 ,

|b〉 ∈ H

A|c〉 −→ 〈C|A† .

(A†)† = A

(AB)† = B†A†

(A + B)† = A† + B†

(zA)† = z∗A†

|a〉, |b〉 ∈ H

〈a|(zA)†|b〉 =
(
z〈b|A|a〉

)∗
= z∗〈b|A|a〉∗

= z∗〈a|A†|b〉 = 〈a| (z∗A†
) |b〉

(zA)† = z∗A†

A = A†

A = −A† U † = U−1

P

P 2 = P P n = P

P = P †

1−P

A = |a〉〈a| .
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|c〉

A |c〉 = |a〉 〈a|c〉︸︷︷︸
|a〉 |a〉

|a〉〈b| |b〉〈a|

〈d| (|a〉〈b|)† |c〉 = [〈c|a〉〈b|d〉]∗ = 〈c|a〉∗ 〈b|d〉∗
= 〈a|c〉 〈d|b〉 = 〈d| (|b〉〈a|) |c〉 .

|a〉〈a| |a〉 〈a|a〉

(|a〉〈a|)2 = |a〉 〈a|a〉︸ ︷︷ ︸
1

〈a| .

∑
i |ui〉〈ui| = 1

|ui〉〈ui| 1

H

H

Hmn = 〈um|H|un〉 = Enδmn = En〈um|un〉 .

En
∗ δnn = 〈un|H|un〉∗ = 〈un|H†|un〉

= 〈un|H|un〉 = En δnn ,

En = En
∗ En
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6H

H |un〉 = En |un〉

〈um|H|un〉 = En 〈um|un〉

〈um|H†|un〉 = 〈un|H|um〉 = (Em 〈un|um〉)∗
= Em 〈um|un〉 .

H = H†

0 = (Em − En) 〈um|un〉
Em �= En |um〉 |un〉

H |un〉 = En |un〉 .

H
{ |un〉 }

H

H
H

H E1, E2, . . .
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|un〉

H
H

|ui〉 H

− �
2

2m

d2

dx2
Ψn(x, t) + V (x, t) Ψn(x, t) = i�

∂

∂t
Ψn(x, t) .

Ψn(x, t) = ψ(x) T (t) ,

Ψn(x, t) = e−
i
�
Ent ψn(x)

= e−
i
�
Ent Ψn(x, 0) = e−

i
�

Ht Ψn(x, 0) .

H

e−
i
�
Ht ψn =

[
1 − i

�
tH +

1

2!

(
−iHt

�

)2

+ . . .

]
ψn

=

[
1 − i

�
tEn +

1

2!

(
−it

�

)2

En
2 + . . .

]
ψn

Hψn = Enψn

ϕ(t) = e−
i
�
Ht ϕ(0)

ϕ′(t) = − i

�
H ϕ(t)
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6
dϕ

dt
= −iH

�
e−

i
�
Ht ϕ(0)︸ ︷︷ ︸
ϕ(t)

.

d

dt
|t〉 = − i

�
H |t〉

|t〉 = e−
i
�
Ht |0〉 .

e−
i
�

Ht |un〉 = e−
i
�

Ent |un〉
|t〉

|un〉

|t = 0〉 =
∑

n

|un〉 〈un|t = 0〉︸ ︷︷ ︸
γn

=
∑

n

γn |un〉

|t〉 = e−
i
�
Ht |t = 0〉 = e−

i
�

Ht
∑

n

γn |un〉

=
∑

n

e−
i
�

Ent γn |un〉 .

|| |t〉 ||2 = 〈t〉 =
∑

n

∣∣∣ e− i
�
Ent︸ ︷︷ ︸ γn

∣∣∣2
=

∑
n

|γn|2 = 〈t = 0|t = 0〉 = || |t = 0〉 ||2 .

H

H = {| 〉}

1926
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E1 E2

En = 〈un|H|un〉 ,

〈un|un〉 = 1

Ea = 〈a|H|a〉

〈a|a〉 = 1

|a〉 =
∑

n

αn |un〉

∑
n |αn|2 = 1

Ea = 〈a|H|a〉 =
∑
n,n′

〈un′|H|un〉︸ ︷︷ ︸En δn,n′ αn′
∗ αn

=
∑

n

|αn|2 En .

|a〉 = |un〉 αn 1
Ea En

αn
2 Ea

αn
2

En |a〉 Ea

Ea =
〈a|H|a〉
〈a|a〉 .

H |a〉

|a〉
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6|a〉
σE

σE
2(|a〉) = (E2)a − E

2
a

=
∑

n

|αn|2 En
2 −

∑
n,n′

|αn|2 |αn′|2 En En′

= 〈a|H2|a〉 − 〈a|H|a〉2 .

| 〈a|H|a〉 |2 ≤ 〈a|a〉︸ ︷︷ ︸
1

. 〈a| H†︸︷︷︸
=H

Ha〉 = 〈a|H2|a〉 ,

σE
2 ≥ 0 .

σE
2 = 0

σE(|a〉) = 0 =⇒ 〈a|H2|a〉 = 〈a|H|a〉2 .

H|a〉
|a〉

Pa = |a〉〈a| , Q = 1 − P = 1 − |a〉〈a| .
PQ| 〉 = QP | 〉 = 0 | 〉 H

H|a〉 = PH|a〉 + QH|a〉
= |a〉〈a|H|a〉+ QH|a〉 ,

〈a|H2|a〉 = 〈a|H|a〉 〈a|H|a〉+ 〈a|HQH|a〉 .

〈a|H2|a〉 = 〈a|H|a〉2

0 = 〈a|HQH|a〉 = 〈a|H†Q2H|a〉
= 〈a|H†Q†QH|a〉
= ||QH|a〉 ||2
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QH|a〉 = 0

H|a〉 = PH|a〉 = |a〉〈a|H|a〉 .

H|a〉 = 〈a|H|a〉︸ ︷︷ ︸ |a〉

|a〉 H 〈a|H|a〉
|a〉

|un〉

En |un〉

A A an

n = 1, 2, . . .
A|an〉 = an |an〉 .

|a〉
A an

| 〈an|a〉 |2 .

A |an,i〉 = an |an,i〉
i i = 1, 2, . . . , N an N

{ |an,i〉 }

an

〈an,i|an,j〉 = δi,j ,

A |a〉 = an |a〉

|a〉 =

N∑
i=1

αn,i |an,i〉 =

N∑
i=1

|an,i〉 〈an,i|a〉 .
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6
〈a|H|a〉 |a〉

|a〉 =

∞∑
i=1

αn |un〉

|ψ〉
A

A|c〉
PQ = QP = 0 P = |a〉 〈a| Q = 1 − P

〈a|a〉 = 1

|un〉

En αn

eiHt H

PQ = 0 PQ |ψ〉 = 0 |ψ〉
P = |a〉 〈a| Q = 1−|a〉 〈a|

P Q
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